
Jerry Greer's Engineering - 1947 Chief - Brake Control - Rear

Ref Part # Qty Description Price

Page 1               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1947 Chief - Brake Control - Rear

Ref Part # Qty Description Price

1 75608 1 BRAKE PEDAL, knurling foot pad and bushing pressed in; Bare Finish $65.00

2 416002 1 GREASE FITTING, 5/16''-32 X .25'', straight; Cad Plated $3.50

3 42481 1 BRAKE PEDAL SPACER, $10.50

4 45071 1 BOLT, 9/16''-18 X 4''(Hex); Cad Plated $17.00

5 922011 1 WASHER, 9/16'' Split Lock; Cad Plated $1.50

6 606018 1 NUT, 9/16''-18(Hex); Cad Plated $4.75

7 42587 1 BRAKE ROD, pedal to bell-crank; Chrome Plated $100.00

8 JG-3489 1 BRAKE ROD, pedal to bell-crank; Cad Plated $45.00

9 D24275 3 FLAT WASHER, .328'' I.D, .022'' Thick; Stainless $0.50

10 636104 3 COTTER PIN, 3/32" X 1/2" $1.00

11 45076 1 BOLT, 7/16''-20 X 1.875''(Shoulder) $9.50

12 42466 1 BELL CRANK, ; Cad Plated $110.00

13 40701 1 GREASE FITTING, 5/16''-32 X .22''; angled; Cad Plated $5.75

14 28B196 1 WASHER, 7/16'', .060'' thick, Flat, Stainless $1.00

15 922009 1 WASHER, 7/16'' Split Lock; Cad Plated $0.50

16 605014 1 NUT, 7/16''-20(Jam) $2.75

17 37741 1 CLEVIS PIN, 5/16'' X 1.625'', clevis at bell crank; Cad Plated $15.75

18 24B6 2 CLEVIS, release rod; Cad Plated $12.00

19 42497 1 BRAKE PEDAL RETURN SPRING CLIP,; Cad Plated $4.50

20 38331 1 BRAKE PEDAL RETURN SPRING, $8.25

21 42581 1 BRAKE LIGHT SWITCH SPRING, ; Cad Plated $9.00

22 JG-2674 1 BRAKE LIGHT SWITCH, cover and mounting hardware included $75.00

23 41363 1 BRAKE LIGHT SWITCH, $65.00

24 42496 1 BRAKE LIGHT SWITCH PLATE, #10-32 threads, cover mount, Bare Finish $8.00

25 42460 1 BRAKE LIGHT SWITCH COVER, mounting hardware not included; Bare Finish $8.75

26 754405 2 SCREW, #10-32 X .375''(Round Head) $1.00

27 922004 2 WASHER, #10 Split Lock; Cad Plated $0.75

28 JG-2455 1 BRAKE LIGHT SWITCH COVER, mounting hardware included; Bare Finish $16.50

Page 2               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1947 Chief - Brake Control - Rear

Ref Part # Qty Description Price

29 JG-2443 1 BRAKE LIGHT SWITCH COVER, mounting hardware not included; Chrome Plated $35.00

30 606010 2 NUT, 5/16''-24(Hex); Cad Plated $1.25

31 75582 1 BRAKE ROD, bell-crank to brake arm; Chrome Plated $100.00

32 JG-3490 1 BRAKE ROD, bell-crank to brake arm; Cad Plated $45.00

33 24B7 1 CLEVIS PIN, 5/16'' X 1''; Cad Plated $5.25

34 540022 1 PEDAL COVERS, rubber, (2 clutch, 1 brake), not available as a single item $40.00

Page 3               Created On: 05/18/2024 - Copyright 2024 Jerry Greer's Engineering


